
505 - 101 =

5005 - 1001 =

If So

Complete the sentences
using known facts.

If
Then
So

100 - 60 = 40
1,000 - 60 = 
10,000 - 40 = 

Then

If
Then
So

200 - 30 = 170
2,000 - 30 = 
20,000 - 30 = 

KS2
Arithmetic

STEM sentence:



4 + 0.5 =

40 + 5 + 0.5 =

          = 400 + 50 + 5 + 0.5

                         +                            =

4.9 + 0.32 = 4.41

Explain the mistake.

KS2
Arithmetic

STEM sentence:



12 + 34 =

34 - 12 =

          = 56 + 78

The sum/difference of                  and                  is

=

=

Use the digits 0 - 9 to make the
statements correct.

+

-

KS2
Arithmetic

STEM sentence:



123 + 456 =

654 + 321 =

          = 987 + 654

The greatest/smalest   sum/difference is

What is the greatest a smallest sum you
can make using the digit cards?

What is the greatest a smallest
sum you can make using the digit
cards?

0 2 4

6 8+ -

KS2
Arithmetic

STEM sentence:



The difference between                       and                      is

5 - 6 =

          = 6 - 8

7 - 10 =

          = 8 - 12

What is the difference between
both numbers.

and1 -1

and3 -3

and5 -5

KS2
Arithmetic

STEM sentence:



A multiple of 2 has a                             in the ones column.

3 + 7 =

          = 9 + 1

          = 6 + 4

Use the digits cards 0 - 9 to
make this statement correct.

+=
Multiple

of 5

KS1
Arithmetic

STEM sentence:



5 + 4 + 1 =

          = 2 + 3 + 5

          = 1 + 2 + 7

The whole is          ,            is a part of the whole.

Use the digits 0 - 9 to complete
the part-whole model.

10

KS1
Arithmetic

STEM sentence:



          +             =

          > 11

          < 12

          < 13

          > 14

How many ways can you
make this correct?

+ =
+ = +
+ = -
+ <

KS1
Arithmetic

STEM sentence:



         = 1 + 9

          = 2 + 8

          = 3 + 7

          = 4 + 6

If
Then

1 + 9 = 10
  +    = 100

If
Then

2 + 8 = 10
  +    = 100

If
Then

3 + 7 = 10
  +    = 100

If
Then

4 + 6 = 10
  +    = 100

If
Then

5 + 5 = 10
  +    = 100

If
Then

13 + 7 = 200
  +    = 200

KS1
Arithmetic

STEM sentence:



4 = 2 +

40 + 2 =

398 = 2 +

          +              =

What would the yellow numbers
be?

          -              =

3 6 12 18

12 18 30 36

300600 120 180

KS1
Arithmetic

STEM sentence:


